MHxeHep-KOHCTPYKTOP

HuxeHep TexHosor

CorJracoBaHo:

IlepeyeHb OCHOBHBIX JETAJEH M V3JI0B

ITerpos B.I'.

ra30HOKOCHJIKH PYYHOM

aaexTpuyeckoii 'PI-1,7

YT1BEpxaao
TexHuueckuit AUPEKTOP

(13 2

Anncenkos O.A.

Pomanuyk A.C. 2015 .

Io3. HanmeHnoBaHue KoJ. 32 TpyOka 3ammTHas 1
1 laiika M10L 1 33 Bunr (camopes) 4x7 2
2 Ddraner BHEITHHH 1 34 [TnacTrHa NPYKUMHAS 1
3 Hosx 1 35 Bsikiiogarens 250B 6A 1
4 Dnanen 1 36 Iomypydka 1moJ1 BEIKJIIOYATENb JIEBas 1
5 DrnaHel BHyTPEHHH 1 37 Bunr (camopes) 4x14 8
6 Bunat M5x10 S 3 38 [Tonmypydka mox BEIKJIIOYATENb IIpaBas 1
7 drnaHen mbUIe3aIMTHBIA 1 39 [onypydka npasas 1
8 BobwnHa B cOope 1 40 [IITanra KpeIIeHUs PYKOSTKH 1

8.1 | Kopmyc 606HHBI 1 41 [Monypyuka jieBas 1

8.2 | IlaiiGa @ 16 2 42 XKecrkuii Bast 9x626MM 1

8.3 | lpyxwuna kouwmyeckas 2.2 L=59 1 43 Bunr M5x16 4

8.4 | Karyuika 1 44 InuHens 1

8.5 | Kokyx 3aluTHbINH 1 45 [Inonka (3x3,7x9) 1
9 Penykrop B chope 1 46 Kpeimka penykropa 1

9.1 Komnb11o cronopHoe BHyTpeHHee ¢ 32 1 47 Bunt M4x6 2

9.2 Inuagens 1 48 TTogmmnauk 6000 RS 10x26x8 1

9.3 Mogummmnauk 6002RS (15x32x9) 1 49 CromnopHoe koibiio @ 26 1

9.4 | Koneco 3ybuaroe Z=20 1 50 Koneco 3yduatoe Z=29 1

9.5 | Hommunaux 6000RS (10x26x8) 1 51 Cronoproe kouibio @ 10 1

9.6 | Kopnyc peaykropa 1 52 Kopryc neBblit 1

9.7 | Buatr M6x10 S 1 53 Bunr (camopes) 4x16 7

9.8 Buatr M5x12 S 1 54 Haxknanka neBas 1

9.9 | Buut M5x25 S 1 55 BunT (camopes) 4x12 3

9.10 | Ban-mecrepnst Z=15 1 56 Bunt (camopes) 5x75 2

9.11 | Mogmumauk 609RS (9x24x7) 2 57 Toammmnuauk 606RS (6x17x6) 1

9.12 | Koo cromopHoe BHyTpeHHee O 24 1 58 Koneco 3ybuaroe Z=16 1

9.13 | Kosapuo cronoproe @ 10 1 59 [onka (3x3,7x9) 1
10 BcTaBka koxkyxa 1 60 3arymka pe3uHoBast 1
11 Kosxyx 3amuTHbIH 1 61 Kopmyc peaykropa 1
12 [ITanra HIWKHSSL B cbope 1 62 [Hommunank 6097 (9x24x7) 1

12.1 | Huxwnsst mranra 26x770MM 1 63 SIKops 1

12.2 | 3akuenka 1 64 TTommmmauk 608RS (8x22x7) 1

12.3 | Kpouiureiin 1 65 Brynka @ 8 1

12.4 | TlnacTuHa — Opy>KKMHA 1 66 Cratop 1

(IIoKa3aHa ycIOBHO) 67 Brok masHoro mycka (8A, 230V, 50Hz) 1

12.5 | 3axmemnxa 1 68 Jpoccennb 1
13 Bunt M5x16 S 2 69 Konzencarop (0,33uF; 275B) 1
14 Brynka (mnactuk) @ 22,5 6 70 ®dnanen 3aIHAN 1
15 XKecrkuii Ban 8x785mMm 1 71 [IleTKOIEpKATEND 2
16 | Brymka npuBOIHOTO Baja 2 72 Ilerka (7x11x17) 2
17 | ®ukcarop 4 73 Bunr (camopes) 3x7 2
18 | Buar M5x20 1 74 Bentunarop 1
19 | BeTaBka mpOyHIMHEL 1 75 Iajixa M8 1

20 | Taiika M5 1 76 [nyp ceresoit 2x0,75 L=0,4m 1
21 [TpoymHa U1 KPETUICHUS] pEMHS 1 77 TpyOka 3amuTHas 1
22 | Bunr 3axuMHoil M6x22 1 78 BunT (camopes) 4x8 2
23 Bunt M6x20 S 1 79 [InacTiHa DpUXKUMHas 1
24 KpoHIITENHH KpeleHHs IITaHI | 1 80 Kopnyc npasblit 1
25 | Bunr (camopes) 5x8 1 81 Haknanka npasas 1
26 Bepxusis mranra 26x660mMm 1
27 Bunt M5x25 S 6
28 Kponmrreitn 1
29 HuxHuil KpOHIITENHH KpEIUIeHus 1

PYKOSITOK

" = I'azoHOKOCHIIKA

30 BepxHuii KpOHIITEHH KpeIUIeHUs 1

PYKOATOK I'po-1,7
31 [IItaHra KpenjaeHus: pyKOSITKH 1 et 1




T"azoHOKOCHIIKA
I'PD-1,7

JIuct 2

"1
158\ 57
59 56

51 50 4948 47x 44 | | [ 1 @ \23
AN Y e
704‘—@—5 #!-u-l——- —_ S —— —
& i

‘ 46 "45"‘74_3 \17

/;|‘.’2_a§£ ﬁ El .lj’, 22

L — ——
1700 16 |15 | 123 122
syt T — =

ﬁg 37 14| 12.




